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QUESTION 1

Which Webex Calling dial plan settings restrict a user from placing a particular outbound call type? 

A. Block 

B. Transfer to Number 

C. Reject 

D. Restrict 

Correct Answer: D 

The Restrict setting in the Webex Calling dial plan prevents users from placing certain types of outbound calls. For
example, you can use the Restrict setting to prevent users from making international calls or calls to premium-rate
numbers. 

The Block setting in the Webex Calling dial plan prevents users from placing any outbound calls. The Transfer to
Number setting in the Webex Calling dial plan transfers all outbound calls to a specified number. The Reject setting in
the 

Webex Calling dial plan rejects all outbound calls. 

Here is a table summarizing the different dial plan settings and their effects: 

Dial Plan Setting 

Effect 

Block 

Prevents users from placing any outbound calls. 

Transfer to Number 

Transfers all outbound calls to a specified number. 

Reject 

Rejects all outbound calls. 

Restrict 

Prevents users from placing certain types of outbound calls. 

 

QUESTION 2

What describes the outcome when the trust boundary is defined at the Cisco IP phone? 

A. Packets or Ethernet frames are remarked at the access layer switch. 

B. Packets or Ethernet frames are not remarked by the IP phone. 
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C. Packets or Ethernet frames are not remarked at the access layer switch. 

D. Packets or Ethernet frames are remarked at the distribution layer switch. 

Correct Answer: C 

Reference: https://networklessons.com/quality-of-service/how-to-configure-qos-trust-boundary-on-cisco-switches 

 

QUESTION 3

Which DHCP option must be set up for new phones to obtain the TFTP server IP address? 

A. option 15 

B. option 6 

C. option 66 

D. option 120 

Correct Answer: C 

Reference: https://blog.router-switch.com/2013/03/dhcp-option-150-dhcp-option-66/ 

 

QUESTION 4

Refer to the exhibit. 
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Which outgoing m-line SDP is sent to Cisco UCM after matching the appropriate dial peers via Cisco Unified Border
Element? 

A. m=audio 16550 RTP/AVP 0 8 18 a=rtpmap:0 PCMU/8000/1 a=rtpmap:8 PCMA/8000/1 a=rtpmap:18 G729/8000/1 

B. m=audio 16550 RTP/AVP 18 0 a=rtpmap:0 PCMU/8000/1 a=rtpmap:18 G729/8000/1 
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C. m=audio 16550 RTP/AVP 8 0 18 a=rtpmap:0 PCMU/8000/1 a=rtpmap:8 PCMA/8000/1 a=rtpmap:18 G729/8000/1 

D. m=audio 16550 RTP/AVP 18 0 a=rtpmap:8 PCMA/8000/1 a=rtpmap:0 PCMU/8000/1 a=rtpmap:18 G729/8000/1 

Correct Answer: B 

it compares with the invite before sending to CUCM leaving G.711ulaw and G.729 remaining. For some reason the
order is messed up but it seems like the best answer still. 

 

QUESTION 5

Which issue can occur if QoS is not deployed on a Cisco Collaboration architecture across the WAN? 

A. 403 Forbidden errors on SIP calls 

B. excessive jitter 

C. unexpected shut-down on Cisco Unified Communications Manager 

D. packet fragmentation 

Correct Answer: B 
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